X

. ‘ SET-1
Series RLHI2| | & =z 32211
R - : Code No.
- qE AL : wwmﬁwg@m%ﬁ@*{g
" Roll No. L | e T

Candidates must write the Code on the
title page of the answer-book.

e P MG B A o 3 97 | Ggd I8 8 + 2 AERA § |
o %ﬁﬁmﬁﬁwﬁaﬁtﬁqmws&w{ﬁ@usmg@lﬁ%g@‘{gm
| :

o YA VT F A foh 59 THIA F 30T § |

o THUHAT TYT HT I FTET I[E FT A Tg, 9= T s Teh oravd ford | |

o T YT h U & U 15 e w1 wma fem mn R | wwww s foar qaty
# 10.15 &3 fra ST | 1015@@1030@%%%%%@@
3R 39 afY % U d IR-GE1 W I3 I & fore |

e Please check that this question paper contains 8 printed pages + 2 Maps.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

o . Please check that this question paper contains 30 questions.

o Please write down the Serlal Number of the question before
attemptlng it.

e 15 minute time has been allotted to read this question paper. The question

~ paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

- students will read the question paper only and will not write any answer on’
the answer-book during this period.
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General Instructions :
(i) . The question paper has 30 questions in all. All questions are compulsory.
(it)  Marks are indicated against each question.

(i)  Questions from serial number 1 to 8 are Very Short Answer Questions.

Each question carries 1 mark.

(iv) Questions from serial number 9 to 20 are 3 vm‘ark questions.

Answers of these questions should not exceed 80 words each.

(v)  Questions from serial number 21 to 28 are 5 mark questions.

Answers of these questions should not exceed 100 words each.

(vi)  Questions number 29 and 30 are map questions of 3 marks each from
History and Geography both. After completion, attach the maps inside

your answer-book.
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1. SQRATG Usgarfedl gRI 3SR T Y@ Hel 41 o ?

ALY
ﬁmﬁtﬁmmﬁmﬁwwwmmm ? 1
What was the maJor issue taken up by the liberal nationalists ?

‘ : OR
Whyb were Nghe An and Ha Tinh provinces called the electrical fuses of

Vietnam ? ?

2. Wﬁtwﬁﬁa‘g’mﬁm%wﬁﬁa g & @S e
%9 -1—+——1,

2 2
What are the two types of minerals accordmg to occurrence in igneous and

metamorphic rocks ?

3. e ¥ T Teued (TEfu.) fred s 2 1
Who formed a Seven Party Alliance (S.P.A.) in Nepal ? ‘

4. mw@n%ﬁ:&ﬁmﬁﬁa’aﬁ T T ?ﬁnmmmm%gwsﬁ
fofesa < 2 2 | 1

What is the requirement laid down by the Election Commlssmn for a
political party to be recognized as a ‘State Party’ ?

5. mwmmwmﬁﬁﬁéﬁ%? » | ,1‘

Why is a democratic government better than other alternatives ?
6. THRFMBAR? | , 1
- What is a Cheque ? - '
7. Wmﬁﬁ&mwwﬁ%&ﬁﬁéﬂmﬁwﬁ@wmaﬁw
B T ? , v 1

Why did the Indian Government remove barriers to a large extent on
foreign trade and foreign investment ?

8. @ I #  wiligd ama mwmﬁ-@mﬁa(ﬁﬁ)é&ﬁﬁ%ﬁ?

Which logo would you like to see while purchasing a tin of edible oil ?

bt
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9. aﬁ%wsﬁw%%&m@qﬁwﬁwmmﬁﬁ
| HSd SR 2 T Hifg |

S LCN]
Sﬂqﬁéﬁﬁswﬁﬁmﬂﬁmwﬁwﬁﬁm&hﬁ%ww?w
Hifm | 3

' How did a wave of economic nationalism strengthen the Wlder nationalist
sentlment growing in Europe ? Explaln

S OR
How was the educatlon policy unfavourable to the Vletnamese students
during the colonial penod ? Explain. '

10.  SFEEAT 5 PR T SGeE o T 2 o R fafew 3

How could non-cooperation become a movement ? Give your opinion.

11. mmmmamm@vmmmm
I | 3

How did the industrialists relate to the Civil Disobedience Movement ?
Analyse their role. |

12, 9RA H 9T A olE W e T et srav AR | xaes

Describe any three features of ferrous minerals found in India.

13. qﬁaﬁaﬂtw%wwamwmmm%wﬁa T ofit
WW%W%W@W&H@%?WWWWI 3

Why is a dense and efficient network of transport and communication
a prerequisite for the development of local, national and global trade of
today ? lee your opinion.

14. Wﬁaﬁammﬁwﬁ%ﬁwmﬁwwﬁwwm% ‘?a:m'ir

gra Qe . 8xI=3
How can biogas solve the energy problem mainly in rural India ? Give your
suggestlons

15. Wﬁmmmmr@ﬁnﬁaﬁmﬁﬁwavh%m 3x1=3
Describe the three major demands put forward by the Seven Party Alliance
in Nepal.
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16.

17.

18.

19.

20.

21.
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e 7 Torf 2ol 3 guR 3g 3R Sret Y it e R 17 B R
gfee v | 3

“Serious efforts were made by the legal organisations to reform political
parties in India.” Support the statement.

“@r@%ﬁrﬁwméﬁal*qﬂﬁ&l{%quﬂﬁ@ﬁ% |”3aasa=r$r
fargeiwor AR | -8

“Some people think that democracy produces a less effective government.”
Analyse the statement. '

ﬁ@ﬁﬁﬁéﬁwﬁmﬁﬁﬁam% |”3asmimwﬁ
gfe IR | | 3

“Technology has stimulated the globahsatlon process ” Support the

statement with examples.

‘o ) S ) o R & g AR L 3

“Money has made transactions easy.” J ustify.

ST T & 2T e AT TR P wraehe W wgeEa 3

What precautions do you suggest for a consumer to take Whﬂe purchasmg
medicines from the market ?

Ww%@ﬁﬁmmmmmﬁaﬁwaﬁa

.a@maﬁrﬁﬁmmw ” 5 Y T T HINT |

YT

Wﬁmﬁﬁﬁa@mﬁw@wﬁﬁ%%ﬁaﬁ ” o i
@ HIT | 5

“The idealistic liberal-democratic sentiment of nationalism in the first half
of the nineteenth century became a narrow creed with llmlted ends.”
Examine the statement.

OR

“The roles of women varied in the anti-imperialist movement in
Vietnam.” Examine the statement.
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22.

23,

24.

25.

' 26.

v‘:R'@Eﬁf:‘val 5

27.

28.

321211

“Fair globalisation would create opportunities for all and also ensure that

- Siforateren am # ge oK EHE R A AR o 248=5

Describe the incident and impact of the Jallianwala Bagh.

ﬁﬁuﬁ@n%w%?mﬁa%aﬂwmﬁrﬁw%%ﬁﬁwm
&l T AU HIRMT | | | 144=5

What is manufacturing sector ? Describe the four types of manufacturing
sectors on the basis of ownership.

“Wﬁmmaﬂﬁamwuﬁmﬁﬁ% aTﬁrg@ggﬁ%
T B 17 39 AT I AT ST | | 5

“Road transport and Rail transport in India are not competitive but
complementary to each other.” Justify the statement.

“S e lreRas o foehE et o 8 17 38 wue w1 favee Sl | 5

“The popular struggles are integral to the development of democracy.”
Analyse the statement.

angﬁmeﬁw&a;mmﬁm@%ﬁmﬁa@m ” o R

“Modern democracies cannot exist without political parties.” Examme the

statement.

TG (ROT) FA1 R 2 WG FRE TR T TERES a0 W T STE Ul

8 ? Th IR S T HIRT | , 1+4=5
What is credit ? How does credit play a vital and positive role ? Explain |
with an example. \ |

“rEiTa Syt Tt % R ST g e ok 9% giieem ot wum e
TR o Tl A weht SR fewiert & 1”7 3 e < gft hifv | 5

benefits of globalisation are shared better.” Support the statement.
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29, o & A,’B 3R ¢ wRa ¥ Ry T aedte w18 9 W), §
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A
B.
C.

A.
B.

g:

. (29.1)
- (29.2)

(29.3)

(29.1)

(29.2)
(29.3)
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Three features A, B and C are marked on the given political outline map 6f

~ India (on page 9). Identify these features with the help of the following

mformatmn and write their correct names on the lines marked in the map :

The place where the Indian National Congress Sess1on was held.

The place where cotton mill workers orgamzed a Satyagraha

Movement.:

The city related to J alhanwala Bagh 1nc1dent

7z : 'ﬁwﬁ@ﬁmmgﬁaﬁﬁaﬂez#%?%mmng F T W

Note: The following questions are for the Visually Impaired Candidates
‘ only, in lieu of Question Number 29 :

39 T % AW fafay, s e, 1920ﬁmraﬁa@trss'raﬁw
AfrarT g o |

34 A 1 W o, mmﬁmw@%m@ﬁm
fopa o |

3 7 T T fRe S SREtaTen S uen @ wefRE 2 | 3x1=3

Name the place where the Indian National Congréss Session was
held in December, 1920.

Name the place where cotton mill workers organised Satyagraha.

Name the city related to Jallianwala Bagh incident.
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30. (30.1)

(30.2)

(30.1)

(30.2)

aamAaﬁrB,wésﬁqrrqwzﬁﬁzs @t (98 i‘quz),‘
% sifera fopu T € | 39 @ = fEfafae S B ggEar @
TEEIHT 3R 39 TR A, nﬁﬁaﬁ@’f%ﬁﬂéi*@aﬁmﬁfﬁaq . 2x1=2
A, SR H TH |

B. wﬁmnﬁa&%ﬁiww

R R e ok R
TS et M SeuTd wI | |

Two featuresA ‘and B are marked on the given political outline
map of India (on page 11). Identify these features with the help

of the following information and write their correct names on

the lines marked in the map :

A. Coal mines
B. The terminal statlon of North- South Corridor

On the same map locate and label the following :

Bhilai Iron and Steel Plant.

Hz: R ye7 Fae gearfin e % frg T T 30 F ST R

g:

Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Question Number 30 :

(30.1)
(30.2)
(30.3)
(30.1)
(30.2)
(30.3)
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Name any one coal mine located in Odisha.

Name the Southern termlnal station of North-South Corndor

In which State is Bhilai Iron and Steel Plant 1ocated ?




